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General Instructions :

|. The guestiom paper comprises of two Sections, A and B. You are to attempt both the

2. Al questions are compulsory

1 All questions of Section-A and all questions of Section-B are to be attempted separately,

1 Question numbers 1 to 3 in Section-A are one mark questions. These are to be answered
one word or in one sentence

5. Question numbers 4 10 6 in Sectlons-A are two marks questons. These are to be answered
in about 3 words each

b, Question numbers 7 to 18 in Section-A are three marks questions, These are o be
answored in about 50 words each

7. Question puipbers 19 Ww 24 in Sectivn-A are five marks questions. These are o be
answered in about 70 words each,

8. Question numbers 25 to 33 in Section-B are mulliple choice guestions based on practical
skills, Each question is a one mark question. You are to select one most appropriate
response out of the four provided to you.

9 Question nombers 34 to 36 m Section-B are questions based on prachical skills. Each

guestion is of two marks
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UrT-3 1 SECTION-A

wfEes & S8 A W A i St weefs o JgEm Bee w7 1
; Mention the part of the brafn which maintains posture and equilibriumn of the body.
! wE g fEe0 W B 1y D 2R gRr 55T = W am | am s 1
< Mower of a lamp is 60 W.. Find the energy in 5.1 unit consumed by it in Is
o w2 AT v S @ e & 1

" g What is meant by the term "Biomass' ? |
4 R Wi R wen ve g (gime) §1 an Afrs e fafey Faad o 2k @ g
. e i &1 dE ¥ pH ¥ W um W e S 6 B0 o #7 0E S et R w5 e

1 FeerE FIHY | g WG W U WO Ay e !

Tooth enamel is the hardest substance in our body. Name the compound of which it is made

ap of. At what pH of the mouth it gets corroded? State the role of bacteria present in the

mouth. Sugpgest a method to prevent ooth decay.
5 W X W Fealn & T sifufea siafus e S § ol sawr avim @ w9 v2fi w e b
fam @ & 9 X # seEitie aen sifufieo & st wEET RfE)
& The reaction of metal *X" with Fez0s is highly exothermic and is used to join railway tmacks.
fdentify the metal * X', Write the chemical equation of the reaction.
6 el ifetigd} ofldl sl 2iSun agars oo o ol Bkt &7 2
biss Why dio herhivores have longer, small intestine than carnivores ?
T B gy e ) g U dafea s . 3
W KEOpEMEE
[ii] Cull + HCI =
i) Fe s HCI-D
Complete and balance the following chemical equations :
ATl KiCD3+ HCE
il Cub+ MO
fi)  FesHos . =

Fed

Pt

R o gl & R b sfmes] @ — .
diferd -
) W forer weee % wem o agen g wmn B
iy e v wmEn wiReT = fafa fem o
iy = o P v warfes = st B
Write the type of chemical reaction with chemical equations for the following cases ;

il When silver chloride is exposed to sunlight.
(it}  Ammoniaand hydrogen chloride are mixed,

mimi El'.(dﬁc.'!a anla-’e«mcjh |k
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For the circular coil carrying current shown alongside, draw magnetic field limes. Decide
which of its face behnves as north pole and which face as south pole. Give reason to justify

!.x. y
f\v‘l/
17 g fesrm v et (geR)) YO T el 3N Rifn s S i 2 s
R e A aE A i i wrE v e e ) Tads e 3 3 e s
e g & wn ° wwene ) = Fre el & e Tl
) weEm S fam A 2 m weE W ey e
L) v e w2 T e aRi e il S 7
(i) et @ A & S WA TGS
Prabhjot visited Manikaran (Kullu) in Himachal Pradesh where he saw an experiments .
geathermal plant, When he saw hot spring he wanted to know mare about it His fathe -
oxplained to him about geothermal energy and hot springs. Now answer the followin
quesbions
(i) What didl Prabhjot’s father explain to him about hot spring ?
f[ﬂj Why is geothermal energy net generated on a large scale 7
,(J.'ri} What is the main advantage of using geothermal energy ?
12 % (ay et 2 sy del ¥ fafen
() e a9 = fafE
< {c) Fars Pl 3 g w AErEw & vk SEm et

{a) MName any two fossil fuels,
() Write any two advantages of fossil fuels
{c) Give one reason to explain the need 1o conserve fossil fuels.

19 (2)  wawm wt uftypn feieT)
(b) G AR O FE €7
(¢} 9 ] e 58 e ?
() w1k 0 W T T, a6 w2
() emER ¥ duwm =1 | Su v s 5 8
{a) Define corrogion.
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~ (b Whal is cormosion ol iron called ¢
#[:rj Huw witdl you recogoise the corrosion of silver 7
1} Why corrosion ol iron is a serious problem 7
—_fe) How can wie prevent commsion of mon ?
20 e e armee & fod wmon £598 5

Gp  TEe v e W o we & e W g aeE vrg o aE oo a8 # Al am
& o 3w i A i T & A e @

Gy 2 @ Wi ieE e A T e il @ v e & el e TR e 7Y

State reasons for the following statements : _

i) Stam of curry on a white cloth becomes reddish brown when soap is scrubbed on it

aid turns vellow again when the cloth is washed with plenty of water.
Aii)  Curd should not be kept in copper or brass vessels. What is done to protect it ?

21 afEE S ) WA A WS eriEd S R wa W s 1wy 5
With the help of suitable examples explain the terms photolropism geotropism and
W chemotropism.
23 e i s A uw v Stk e onid e ) T dmd? wmww R
=T A W T 3 e i e w9 F o e e ity faed e
gfiqy ¥ S S W W WWIE TR, afE 96w WEE e g Ry & w9 e w1 R

- ? -
]-mr an current  fHows through a conducter it  becomwes hot,
w Li .. : an which the heat produced in a conductor depends. State Joule's law
ol heotiny will the heat produced in an electric circuit be affected, if the resistance in the
cireuit is deonbled for the same marrent ? R— . _
e 47 nerd e 87 v At siwe ) g w e Rrgmeend geen et &S %
A WY AW FRTEET W S R I e e e & e o =i wiie )

= What are nignetic field lines ? List three characteristics of these lines. Describe in brief an

activity to study the magnetic field lines due to a current carrying circular coil.
24 Tt et ) whvtewm @ o aed &7 veEn S oo sgee witen) fret wves an o whiem S
Tt wrwl T iy s # 5 e avanm w0 & ferg et wim a9 el wife
What is meant by electrical resistivity of a material 7 Derive its SI unit. Describe an experiment
to study the factors on which the resistance of a conducting wire depends.
-8 f SECTION - B
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LN pH TR W, pH W L S o
(ay &, | H e (b)  =FH e @’-mﬂr‘:ﬁ-
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fiost tiabie ! Test tube 11
R s q':::rin;_-_ P paper strfp 1o bothithe lest hibes plH paper tuens:
A pect o 1, Bl |:|. 1 {ivd e in btk
I iteein | red in gl 35 reid gre 4 pimikean L
26 T el o | BT ) AT TR =..¢4qrw=m=m=m1|wm€'l=rﬁr !
{al gieyp FEsiwnd e
() migan A s

ic) '{J_'r? A
(d) T EEGERRE
A dpop of volourless liguid is powred over bl litmus paper grud it tarns red;  The colouatless
Ligpusied % -
{a)- Sodium ll}rdrt:i:!:i.de solukion
(b}  =odium bicarbomate selution
<} purne: water

-~ {d) dilute hydrochloricacid

27 s sl A BRT W g TEEEETs o6 T W = A6 1

O e i Rl by EfEEs wEEE & e
Wy EemiEmz s e T (@) T e Eee i

(a)  zing metal {h} » sud;u.m mbcn&lnlnluﬁm

(€) - sodium chioride solution  (d) blue litmus solution el + 2w 4
28 s (4 w Ty wfsfwan 7l it ¢ ' 1

() T+ HU BERE w

(b) A - E e 4 Nad

(@ o=+ Fiw ek
(fy  TrEfubrEe 4 s wee
Which of the following reactions will not proceed ?
“a)  copper + copper sulphate
{b) iron + copper sulphate
(e Zinc + copper sulphate
(d}  aluminium + copper sulphate
6w e & v e 5 fiw S 9 WA e w i dm 1
(a) (b) FO () A d4) HHS
The colour of the cuating that develops on the zine rod on dipping it in the aqueous copper
sulphate solution will be :
@), brown {b)  green () blue (d} white

iage b of 9 | Baglhz ot L —Matlo rhgD




| ]
i BN /Y S T R e BT R 1
1§ Wi
|
Lt |
R
()  THA ) 5A I 5 ) 254
the amoun) v gusrent fiowing in the tollowing circuit is
iy 311 4 L)
e .-_F_,-._“,. ]
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{a) LITA by A {©) 3A33A {d)  25A
31 ¥ = yiod F g w g PR o9 A e g e S o # e d e 1
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ja) PEIQ

(h) Qs3mE
&y Pdme

(d) Q3 Ram pali R, 2 W
Six equal resistances are comnected between paints P.Q and R as shown in figure Then the net
resistance Fiiil be minimum between -

(a) PandQ
(b} QandR
{p;'lr Pand B

(<) BothbetwieenQ&Rand P &R
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A portion Of destarchiel loal of 4 pritliesd plint was covesed with o el stdp o papere The

priant w asﬁ-'.\‘#u_wu{ tos suinfight bor ses-hours and then tested bor starch. [P wis obseryod al
i) Botheovens] and amiosered parts tnmmed Bloe black
by Both coversd sl anceverad parts teened vellimieh boown
dc]  Only the uncovered part tumied bloe black
{d) Oy .the coversd part turmed Dloe ilack
ﬂﬁﬂ'ﬂ#i}?ﬂﬁmﬁﬁwﬂm“ﬁummﬂﬂ = w1 = TE e § e i

(a) WECD: 8 & e el g

-

() KOH BRI CO: T ST 132 7 w6 e w S A e

M o w we e

iy Oy dwfa 5 &5 F smeinm & 53

In the experimental set up of 'CO: releasad oaring respiration by gpermitating seede" the bent
glass lube is uded to

{a) Adlow the OO FAs o pass

) Toshow the rise of water lovel due to absorplion of CO: by KOH

{c) Ir- push OO into the waliey
: T

m#mﬁmn&mmtmm

iy TR N W 4 W AR W+ = ! -

iy wfEEn et T dTom s fee o, 3 aee () -« d@feTm e
T

The follewmng given chemal reactions can be classibied in two dillerent tvpes of reactions
vach. Write the names of two types o reactions tor gach statement.

(i) Quick time + water - slaked tinwe ¢ Heat

i) Sodium sulphate solution ¢ Barium  chioride  solution -+ Barium  sulphate
(solid) + sodium chloride solubon (precipitate)

A F T & s Wi s & S ey @ T e T 2
Enlist the materials required for the experimental set up to verify olim's law,

y FeEam avi ¥ e vl &t afeds e @ e W geRe & 9 St 50 F A 2
=il % w5 Fefem

Write the correct sequence of steps 10 be taken for tocussmg, a-slide ol epidermal peel of leat
wunder microscape to show the stomatal apparatus
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